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, 100kN/Mi%#82.% 1.00[0.00 ~ 0.36 105.36| 3m&#2%25| - ~ - - -| 100kN/mi%#8Z 2 1.00[ 11.11 ~ 12.28 105.36| 3m&#2%% -~ - - -
Zhust 1.00(0.36 ~ 8.15 100.00| #huist |0.00 ~ 8.15| 2.04 10.89 Zhust 1.00[ 500 ~ 11.11 100.00| #hist | 500 ~ 12.28| 2.04 10.89
9 100kN/m##8 %% - -~ - -|3m%FBZ S -~ - - —| 100kN/mM%Z#BZ % - -~ - -|3m%EiBZ D -~ - - -
Zhust 1.00[0.00 ~ 6.91 87.46| #hlust | 000 ~ 6.91| 1.82 9.75 Zhust 1.00| 500 ~ 8.60 87.46| #hust | 500 ~ 8.60| 1.82 9.75
2 100kN/Mi%#82% 1.00[0.00 ~ 0.89 113.36| 3mz#2%23| - ~ - - ~| 100kN/mi%#8Z 2 1.00[ 11.31 ~ 14.71 113.36| 3m&#2%% -~ - - -
Zhust 1.00[ 089 ~ 8.68 100.00| #huist |0.00 ~ 8.68| 2.02 10.78 Zhust 1.00[ 500 ~ 11.31 100.00| #hist | 5.00 ~ 14.71| 2.02 10.78
. 100kN/Mi%#82.% 1.00[0.00 ~ 287 145.42| 3m%&#BZB| - ~ - - ~| 100kN/mi%#8Z 2 1.00[ 10.68 ~ 28.23 145.42| 3m&E#2Z % -~ - - -
Zhust 1.00[ 2.87 ~ 10.65 100.00| #huist |0.00 ~ 10.65| 2.94 15.71 Zhust 1.00| 500 ~ 10.68 100.00| Zhist | 5.00 ~ 28.23| 294 15.71
s 100kN/Mi%#82% 1.00[0.00 ~ 258 140.47|3m%#8%%| 000 ~ 0.78| 3.33 17.80| 100kN/mi%#22.% 1.00[ 11.64 ~ 48.70 140.47|3m%#8%%| 40.00 ~ 48.70| 3.33 17.80
Zhust 1.00[ 2.58 ~ 10.36 100.00| #huist |0.78 ~ 10.36] 3.00 16.05 Zhust 1.00| 500 ~ 11.64 100.00| #hkist | 5.00 ~ 40.00| 3.00 16.05
6 100kN/Mi%#82% 1.00[0.00 ~ 352 156.81|3m%#8%%| 000 ~ 2.09| 3.92 21.00| 100kN/mi%#2% % 1.00{ 10.62 ~ 58.00 156.81| 3m%#8% 5| 30.00 ~ 58.00| 3.92 21.00
Zhust 1.00[ 352 ~ 11.31 100.00| #huist |2.09 ~ 11.31] 3.00 16.05 Zhust 1.00[ 500 ~ 10.62 100.00| #hkist | 5.00 ~ 30.00| 3.00 16.05
. 100kN/Mi%#82.% 1.00[0.00 ~ 3.46 155.82|3m&#8x%[ 000 ~ 2.06| 3.90 20.89| 100kN/mi%#2% % 1.00[ 10.65 ~ 58.00 155.82| 3m%#8% 5| 30.00 ~ 58.00| 3.90 20.89
Zhust 1.00[3.46 ~ 11.25 100.00| #huist | 2.06 ~ 11.25] 3.00 16.05 Zhust 1.00| 500 ~ 10.65 100.00] #hkist | 5.00 ~ 30.00| 3.00 16.05
o 100kN/ % #82 % 1.00/0.00 ~ 3.76 161.15|3m%#8%5|0.00 ~ 2.23| 4.03 21.56| 100kN/mi&#2%.% 1.00| 1053 ~ 57.88 161.15| 3m%#8% 5| 25.00 ~ 57.88| 4.03 21.56
Zh st 1.00{3.76 ~ 11.55 100.00| #hust |2.23 ~ 11.55| 3.00 16.05 Zhust 1.00| 5.00 ~ 10.53 100.00| =hst | 5.00 ~ 25.00| 3.00 16.05
o 100kN/ %482 % 1.00/ 0.00 ~ 3.81 161.99|3m%#8%5|0.00 ~ 2.26| 4.05 21.70| 100kN/i%#2%.% 1.00| 1053 ~ 57.69 161.99| 3m%#8% 5| 25.00 ~ 57.69| 4.05 21.70
Zh st 1.00/ 3.81 ~ 11.60 100.00| #huist |2.26 ~ 11.60| 3.00 16.05 Zhust 1.00| 5.00 ~ 10.53 100.00] Z=h st | 5.00 ~ 25.00| 3.00 16.05
0 100kN/ % #82 % 1.00/ 0.00 ~ 3.61 158.42| 3m%#8%5|0.00 ~ 2.13| 3.96 21.18] 100kN/i%#22.% 1.00| 1057 ~ 58.85 158.42| 3m%#8% 5| 30.00 ~ 58.85| 3.96 21.18
Zhust 1.00| 3.61 ~ 11.40 100.00| #hust |2.13 ~ 11.40| 3.00 16.05 Zh st 1.00| 5.00 ~ 1057 100.00| #hst | 5.00 ~ 30.00| 3.00 16.05
’ 100kN/ %482 % 1.00/0.00 ~ 3.46 155.70| 3m%#2%5|0.00 ~ 2.05| 3.90 20.86| 100kN/ni##2%.% 1.00| 10.66 ~ 62.15 155.70| 3m%#8% 5| 30.00 ~ 62.15| 3.90 20.86
Zh st 1.00| 346 ~ 11.24 100.00| #huist |2.05 ~ 11.24] 3.00 16.05 Zh st 1.00| 5.00 ~ 10.66 100.00| Zhst | 5.00 ~ 30.00| 3.00 16.05
i 100kN/ % #8 2 % 1.00/ 0.00 ~ 3.05 148.50| 3m%#8%5|0.00 ~ 1.86| 3.78 20.21| 100kN/i%#2%.% 1.00| 11.04 ~ 59.48 148.50| 3m%#8% 5| 40.00 ~ 59.48| 3.78 20.21
Zhust 1.00] 3.05 ~ 10.83 100.00| #huist | 1.86 ~ 10.83| 3.00 16.05 Zh st 1.00| 5.00 ~ 11.04 100.00| Zh st | 5.00 ~ 40.00| 3.00 16.05
i 100kN/ % #82 % 1.00{0.00 ~ 3.03 148.21|3m%#8%5|0.00 ~ 1.86| 3.78 20.21| 100kN/i%#2%.% 1.00| 11.05 ~ 55.74 148.21| 3m%#8% 5| 40.00 ~ 55.74| 3.78 20.21
Zhust 1.00] 3.03 ~ 10.82 100.00| #huist | 1.86 ~ 10.82| 3.00 16.05 Zh st 1.00| 5.00 ~ 11.05 100.00| Zh st | 5.00 ~ 40.00| 3.00 16.05
" 100kN/ % #82 % 1.00/0.00 ~ 3.16 150.52| 3m%#8%5|0.00 ~ 1.04| 3.47 18.55| 100kN/mi%#2% % 1.00| 10.85 ~ 46.55 150.52| 3m%#8% 5| 40.00 ~ 46.55| 3.47 18.55
Zhust 1.00] 3.16 ~ 10.95 100.00| Z#huist | 1.04 ~ 10.95| 3.00 16.05 Zh st 1.00| 5.00 ~ 10.85 100.00| Zhst | 5.00 ~ 40.00| 3.00 16.05
5 100kN/ % #82 % 1.00/0.00 ~ 3.47 155.87| 3m%#2%5|0.00 ~ 1.26] 3.60 19.25| 100kN/mi%#22 % 1.00| 10.56 ~ 40.11 155.87| 3m%i#8% 5| 30.00 ~ 40.11| 3.60 19.25
ZhLst 1.00[3.47 ~ 11.25 100.00] #hust [1.26 ~ 11.25| 3.00 16.05 ZhLst 1.00] 500 ~ 1056 100.00| Zhuist | 5.00 ~ 30.00] 3.00 16.05
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16 100kN/m##B %% 1.00]0.00 ~ 3.41 154.79|3m%x#% %] 0.00 ~ 0.20[ 3.10 16.61| 100kN/m#%#B=% 1.00] 10.56 ~ 37.38 154.79|3m%x#Z 5| 30.00 ~ 37.38 3.10 16.61
s 1.00]3.41 ~ 1119 100.00f Z=h st 1 0.20 ~ 11.19] 3.00 16.05 s 1.00] 5.00 ~ 10.56 100.00| =hList | 500 ~ 30.00f 3.00 16.05
17 100kN/m##8 %% 1.00{0.00 ~ 3.39 154.48|3m%x#%%(0.00 ~ 0.35| 3.19 17.05| 100kN/m#%#B =% 1.00] 10.54 ~ 32.19 154.48|3m%x# x5 25.00 ~ 32.19 3.19 17.05
s 1.00/3.39 ~ 11.17 100.00f Z=h st 1035 ~ 11.17] 3.00 16.05 s 1.00] 5.00 ~ 10.54 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
18 100kN/m##8 %% 1.00{0.00 ~ 3.10 149.42|3m%x#% %] 0.00 ~ 0.01| 3.01 16.10| 100kN/m#%#B 2% 1.00] 10.55 ~ 29.04 149.42| 3m%Fx#E% 5| 25.00 ~ 29.04| 3.01 16.10
s 1.00] 3.10 ~ 10.88 100.00f Z=h st | 0.01 ~ 10.88] 3.00 16.05 s 1.00] 5.00 ~ 10.55 100.00| =h L4t | 500 ~ 25.00/ 3.00 16.05
19 100kN/mM##8 %% 1.00{0.00 ~ 224 134.81|3m%*x#BZx 5 -~ - - —| 100kN/mM%Z#BZ % 1.00] 11.40 ~ 26.43 134.81|3m%#BZ % -~ - - -
s 1.00]2.24 ~ 10.02 100.00f Z=h st | 0.00 ~ 10.02] 2.80 14.98 s 1.00] 5.00 ~ 11.40 100.00| =hList | 500 ~ 26.43] 2.80 14.98
20 100kN/m##8 %% 1.00{0.00 ~ 2.77 143.80| 3m%*x#BZx 5 -~ - - —| 100kN/mM%Z#BZ % 1.00] 10.63 ~ 25.99 143.80| 3m%#BZ % -~ - - -
s 1.00] 2.77 ~ 10.56 100.00f Z=h st | 0.00 ~ 10.56| 2.95 15.81 s 1.00] 5.00 ~ 10.63 100.00| =hList | 500 ~ 25.99| 295 15.81
21 100kN/m##B %% 1.00{0.00 ~ 2.89 145.80|3m%x#% %] 0.00 ~ 0.02| 3.01 16.11| 100kN/m#%#B2.% 1.00] 10.78 ~ 30.58 145.80| 3m#%#E% 5| 30.00 ~ 30.58| 3.01 16.11
s 1.00]2.89 ~ 10.68 100.00f Z=h st | 0.02 ~ 10.68] 3.00 16.05 s 1.00] 5.00 ~ 10.78 100.00| =hList | 500 ~ 30.00| 3.00 16.05
92 100kN/m##8 %% 1.00{0.00 ~ 3.27 152.38|3m%x#%%[0.00 ~ 0.29 3.15 16.86| 100kN/m#%#BZ% 1.00] 10.53 ~ 30.89 152.38| 3m%x# x5 25.00 ~ 30.89 3.15 16.86
Lo 1.00]3.27 ~ 11.05 100.00f Z=h st 10.29 ~ 11.05] 3.00 16.05 Lo 1.00] 5.00 ~ 10.53 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
100kN/mMZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#28 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhs ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ zhst ~ Lot ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ zhs ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ zhst ~ Lot ~
100kN/mMZ#8 2 % ~ 3ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ zhs ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhs ~ zhst ~ Lot ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhs ~ zhst ~ st ~
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